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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76-

79-

80-

81-

82-

84-

87-

The workmen outside my window were making a lot of noise, ............ .
1) who made it for me difficult concentrate

2) which made it for me difficult concentrate

3) which made it difficult for me to concentrate

4) who made it difficult for me to concentrate

A: “How’s Stephan?”

B: “Not that well. Imagine how you’d if you that you’d failed all of your exams!”

1) feel / discovered 2) felt / would discover

3) feel / would discover 4) felt / discovered

It seems that ............ people have applied for the job, and ............ seem to be promising candidates.

1) many / a few of whom 2) a few / few of whose

3) many / some of them 4) a few / some of themselves

| [P this summer in Europe ifI ............ the time and the money. Maybe next year!

1) would spend / had 2) spent / would have

3) had spent / had 4) could spend / have

This island is a/an ............ destination for those looking for a quiet spot to set up camp for a few days.

1) absolute 2) sociable 3) immediate 4) popular

Amazingly, some people define vegetarian as a ............ which excludes the meat of animals but does
permit fish and eggs.

1) habit 2) serving 3) diet 4) style

The center of the planet Earth is believed to consist of two distinct parts, with a liquid outer core that
cesesneesees @ SOlid inner core.

1) surrounds 2) prevents 3) combines 4) involves

She spoke with a ............ voice, not showing any sign of the emotional state she’d been in just moments
earlier.

1) calm 2) natural 3) safe 4) mental

I have a bad ............ of staying in bed till the last minute and then running about in the morning,
rushing to get to the office.

1) factor 2) element 3) habit 4) measure

They need to be able to ............ well with each other — not just about the positive aspects of their work
but also to deal with problems as well.

1) recognize 2) communicate

3) experience 4) influence

Most of the world’s water is salt water, while much of the remaining ............ water is frozen in ice
sheets and glaciers.

1) proper 2) fresh 3) ocean 4) healthy

Children have an active ............ which must be encouraged in order for them to become creative adults.

1) information 2) connection 3) expression 4) imagination
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

Until the middle of last century, stories about space flight were found only in science-fiction books.
Today, rockets blast off regularly. They ...88... satellites in Earth orbit, send astronauts and cargo to the
International Space Station, and launch spacecraft to explore the solar system. Space flight became a
...89... after the development of powerful rocket engines, capable of giving a spacecraft or satellite the
speed it needs to reach Earth orbit. For its journey from Earth into space, a spacecraft is attached to the
top of a launch vehicle (rocket), ...90... . The exploration of the solar system is one of the most ...91...
aspects of space flight. Humans have only traveled ...92... the Moon, a journey of just three days. However,
robotic spacecraft have traveled for years to explore the distant planets.

88- 1) place 2) arrange 3) contain 4) figure
89- 1) reality 2) function 3) product 4) ability
90- 1) that has powered by rocket engines and is carried huge amounts of fuel

2) which is powered by rocket engines and is carried huge amounts of fuels

3) which is powered by rocket engines and carries huge amounts of fuel

4) that has powered by rocket engines and carries huge amounts of fuels
91- 1) excited 2) excitingly 3) excite 4) exciting
92- 1) the farthest 2) as far as 3) farther 4) farthest

PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

So, you have to give a speech — and you’re terrified. You get nervous, you forget what you want to say,
you stumble over words, you talk too long, and you bore your audience. Later you think, “Thank goodness,
it’s over. I’m just no good at public speaking. I hope I never have to do that again.”

Cheer up! It doesn’t have to be that bad. Here are some simple steps to take the pain out of speech
making. Ask yourself the purpose of your speech. What is the occasion? Why are you speaking? Then,
gather as many facts as you can on your subject. Spend plenty of time doing your research. Then spend
plenty of time organizing your material so that your speech is clear and easy to follow. Use as many
examples as possible, and use pictures, charts, and graphs if they will help you make your points clearer.
Never forget your audience. Don’t talk over their heads, and don’t talk down to them. Treat your audience
with respect. They will appreciate your thoughtfulness.

Just remember: be prepared. Know your subject, your audience, and the occasion. Be brief. Say what
you have to say and then stop. And be yourself. Let your personality come through so that you make
person-to-person contact with your audience.

If you follow these simple steps, you’ll see that you don’t have to be afraid of public speaking. In fact,
you may find the experience so enjoyable that you will volunteer to make more speeches!

93- The main idea of this passage is that ............ .
1) you can improve your public speaking ability 2) a poor speaker can hardly change
3) you should always make your speech short 4) it is hard work to make a public speech
94- Which of the following best describes the way the information in the passage is presented?
1) A particular problem is mentioned, and the reasons for its existence are discussed.
2) A general point is made, and then a particular problem related to it is mentioned.
3) An interesting topic is introduced, and the ideas for and against it are mentioned.
4) A problem is introduced, and then some steps to solve it are discussed.
95- The phrase “talk over their heads” in the second paragraph means ............ .
1) speak too loudly 2) look at the ceiling during your speech
3) look down upon them 4) use words and ideas that are too difficult
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96- All of the following statements are true EXCEPT that ............ .
1) most people cannot master the necessary steps for giving a good speech
2) a lecturer needs to use all available means to make his speech clearer
3) research and organization are important in preparing a speech
4) there are simple steps you can take to improve your speaking ability
Passage 2:

“High tech” and “state of the art” are two expressions that describe very modern technology. High tech
is just a shorter way of saying high technology. And high technology describes any invention, system or
device that uses the newest ideas or discoveries of science and engineering. What is high tech? a computer is
high tech, so is a communications satellite. A modern manufacturing system is surely high tech.

High tech became a popular expression in the United States during the early 1980s. Because of
improvements in technology, people could buy many new kinds of products in department stores, such as
home computers, microwave ovens, etc.

“State of the art” is something that is as modern as possible. It is a product that is based on the very
latest methods and technology. Something that is “state of the art” is the newest possible design or product
of a business or industry. A state of the art television set, for example, uses the most modern electronic
design and parts. It is the best that one can buy. “State of the art” is not a new expression. Engineers have
used it for years to describe the best and most modern way of doing something.

Millions of Americans began to use the expression in the late 1970s. The reason was the computer
revolution. Every computer company claimed that its computers were “state of the art”. Computer
technology changes so fast that a state of the art computer today might be old tomorrow. The expression
“state of the art” became as common and popular as computers themselves. Now all kinds of products are
said to be “state of the art”.

97- What is the purpose of the passage?
1) to tell us how “high tech” and “state of the art” have developed
2) to give examples of “high tech”
3) to tell what “high tech” and “state of the art” are
4) to describe the very modern technology
98- What can we infer from the passage?
1) “High tech” products have been more readily available since the 1980s.
2) “High tech” describes the latest product available in the market.
3) A wooden plough pulled by oxen is “state of the art™.
4) “State of the art” is not as popular as “high tech”.
99- Which of the following statements is NOT true?
1) Since the computer revolution, the expression “state of the art” has become popular.
2) “State of the art” describes a product that is the best and most modern of its kind.
3) With the rapid development of computer technology, a state of the art computer may easily become out of
date.
4) All the products are “state of the art” when they are first introduced.
100- The best title for the passage is ............ .
1) Computer Technology 2) High Tech and State of the Art
3) Most Advanced Technology 4) Common Technological Terms
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